Sample.htm

1.

<html>
<head><title>Samplel</title>
<script language="JavaScript">
<I--

img = new Array();

img[0] = new Image();
img[0]-src = "neutral .gif";
img[1] = new Image();
img[1].src = "good.gif";
img[2] = new Image();
img[2].src = "wrong.gif";

//
1/
//

//
""*:document.F1.ANS12.value= ""
""*-document.F1.ANS22.value= ""';
""-document.F1.ANS32.value= ""
img[0] .src; //
img[0].src;

img[0] -src;

function renew_allQ{
document.F1.ANS11.value=
document.F1.ANS21.value=
document.F1.ANS31.value=
document.F1.kekkal.src
document.F1.kekka2.src
document.F1.kekka3.src

}

1/

< >///

)

BOX

kekkal( img[0]

(neutral _gif)

function seikai (QNum){
i F(QNum==1){

SEIKAI1="2";SEIKAI2=""";
Yelse if(QNum==2){
SEIKAIL=""";SEIKAI2=2;
Yelse if(QNum==3){
SEIKAI1=2;SEIKAI2=3;

//
1/
1/

>
SEIKAI

}
}

function Check(QNum){
i F(QNum==1){
seikai(1)

if((document.F1.ANS11.value == SEIKAI1)&&(document.F1.ANS12.value

document.F1.kekkal.src = img[1].src;

SEIKAI2)){

Yelse{
document.F1.kekkal.src

img[2].src;

else 1f(QNum==2){

<
F1 ANS11
(&&)F1 ANS12
,kekkal(
img[1] (good.gif)

>
SEIKAIL ==
SEIKAI2

seikai(2)
if((document.F1.ANS21 . value
document.F1.kekka2.src
Yelse{
document.F1.kekka2.src
}

img[1].src;

img[2].src;

seikai(3)
if((document.F1.ANS31.value
document.F1.kekka3.src
Yelse{
document.F1.kekka3.src
}

3
}

img[1].src;

img[2]-src;

== SEIKAI1)&&(document.F1.ANS22 value

== SEIKAI1)&&(document.F1.ANS32.value

SEIKAI2)){

SEIKAI2)){

function Hinto(QNum){
iF(QNum==1){

et K 0222 () ()

Ch-=C) ()"
02-=(C) ()"

alert("(1)

Yelse if(QNum==2){
alert("(2)

}else iT(QNum==3){
alert("(3)

"' o+

Mg 2+ :

¥n" o+ " Al 3+

alert(”
(¥n

}

// -->
</script>
</head>




<body> BODY
<font size="5"> </font>

<p> 1</p>
<form name="F1">
<table border="0" width="95%" >

<tr> < >
<td height:"]." width="300"> (1 ) renew allo
</td> _
<td height="1" width="152"> <b> </b> onclick=" "
</td>
<td height="1" width="262"><input type="button" value=" " name="B1" onclick="renew_all()">
</TD>
</tr>
<tr>
<td height="45" width="300">
(€D <font size="5"> K<input type="text" size="1" name="ANS11">0<input type="text" size="1"
name="ANS12"></font> < S
</td> HintoQ
<td height="45" width="152">
<input type="button" value="" " onclick="Hinto(1)"> <input type="button" value="Check" onclick=""Check(1)">
</td>
<td height="45" width="262" valign="bottom"> <Check >
<img border="0" name=kekkal src="neutral.gif" width="145" height="45"> CheckO
</td>
</tr>
<tr>
<td height="45" width="300" >
) <font size="5"> Mg<input type="text" size="1" name="ANS21">ClI<input type=""text" size="1"
name="ANS22"></font>
</td>
<td height="45" width="152" >
<input type="button" value=" " onclick="Hinto(2)"> <input type="button™ value="Check” onclick="Check(2)">
</td>

<td height="45" width="262" valign="bottom">
<img border="0" name=kekka2 src="neutral.gif" width="145" height="45">
</td>
</tr>
<tr>
<td height="45" width="300">
(©) <font size="5">Al<input type="text" size="1" name="ANS31">0<input type="text" size="1"
name="ANS32"> </font>
</td>
<td height="45" width="152" valign="bottom">
<input type="button" value=" " onclick="Hinto(3)"> <input type="button™ value="Check” onclick="Check(3)">
</td>
<td height="45" width="262" valign="bottom">
<img border="0" name=kekka3 src="neutral.gif" width="145" height="45">
</td>
</tr>
</table>
</form>
<p> <a href="script2.htm"> </a>&nbsp;&nbsp;</p>
</body>




2.

<html>

<head>

<title>Sample2</title>

<script language="JavaScript'>

<I--

img = new Array();

img[0] = new Image();
img[0].src = "neutral .gif";
img[1] = new Image();
img[1].src = "good.gif";
img[2] = new Image();
img[2].src = "wrong.gif";

//
1/
//

function hantei(gNum){
if(gNum==1){

/7

if (document.F1.Cl.checked == false && document.F1.C2.checked == false

&& document.F1.C3.checked == false && document.F1.C4.checked == false
&& document.F1.C5.checked == false){
alert(ll 1 ¥nll + " II);
}
else if (document.F1.Cl.checked == true && document.F1.C2.checked == true //C1 C2 C5
&& document.F1.C3.checked == false && document.F1.C4._checked == false
&& document.F1.C5.checked == true){ < >
document.F1.kekka.src = img[1].src; F1 (checked ==
else{ false)
i C1.C2.C5 (checked == true)
) document.F1.kekka.src = img[2].src; kekka( ) ing[L] (good.gif)
} img[2 if
”i’f(q’NL’Jm’:’:’z’)’{’ ”””””””””””””””””””””””””””””” Img[ ] (Wrong'gl )
if ( document.F1.C21.checked == false && document.F1.C22.checked == false
&& document.F1.C23.checked == false && document.F1.C24.checked == false
&& document.F1.C25.checked == false){
alert(" 1 ¥n" + " ");
}
else if ( document.F1.C21.checked == true && document.F1.C22.checked == false //C21 C24 C25
&& document.F1.C23.checked == false && document.F1.C24.checked == true
&& document.F1.C25.checked == true){
document.F1.kekka2.src = img[1].src;
}
else{
document.F1.kekka2.src = img[2].src;
}
}
}
function hantei2(){ //
if (document.F1.R1[0].checked == false && document.F1.R1[1].checked == false
&& document.F1.R1[2].checked == false && document.F1.R1[3].checked == false
&& document.F1.R1[4].checked == false && document.F1.R1[5].checked == false) {
alert(" ");
}
else if (document.F1.R1[5]-checked == true)
{ //R1[5] < >

document.F1.kekka3.src = img[1]-src; F1 (checked == false)
else { ) F1 6  (FL.R1[5])
document.F1.kekka3.src = img[2]-src; (checked == true) kekka3( img[1]
} (good.gif)
} img[2] (wrong.gif)
function hantei3(N){ //
if(N==1){ //
document.F1.kekka4.src = img[1].src;
} < >
else if(N==2){ // hntei (1) kekka4( )
document.F1.kekka4.src = img[2].src; img[1] (good._gif)
} hntei (2) kekka4 ( )
} img[2] (wrong.gif)
function renew_allQ){
document.F1.Cl.checked = false;document.F1.C2.checked = false;
document.F1.C3.checked = false;document.F1.C4.checked = false;

document.F1.C5.checked = false;




false;

document.F1.C21.checked = false;document.F1.C22.checked
= false;

document.F1.C23.checked = false;document.F1.C24.checked
document.F1.C25.checked = false;

document.F1.R1[0].checked = false;document.F1.R1[1].checked = false;
document.F1.R1[2]-checked = false;document.F1.R1[3].checked = false;
document.F1.R1[4].checked = false;document.F1.R1[5].checked = false;
document.F1.kekka.src = img[0]-src;
document.F1.kekka2.src = img[0].src; < >///
document.F1.kekka3.src = img[0].src;
document.F1._kekka4.src = img[0].src; kekka img[0]
} (neutral _gif)
// -->
</script>
</head>
<body>
<form name="F1" > BODY
<table border="0" width="95%" height="21">
<tr>
<td width="85%" height="1" colspan="2">
<font size="5">2. </font>
</td> < >
<td width="15%" height="1" colspan="2"> renew_all(Q
< =" " =" " i =3 >
<;Qggt type="button" value onclick=renew_all() onclick"
</tr>
<tr>
<td width="100%" height="21" colspan="4">
<font size="4">( ) <p> </b> </font>
</td>
</tr>
<tr>
<td width="5%" height="1">
</td> name value
<td width="80%" height="1">
<input type="checkbox" name="C1" value="ON">Web HTML <br>
<input type="checkbox" name="C2" value="0ON">HTML &It;body&gt;&lt;/bodys&gt; <br>
<input type="checkbox" name="C3" value="ON"> <br>
<input type="checkbox" name="C4" value="ON">&quot;#FFFFFF&quot; <br>
<input type="checkbox™ name="C5" value="ON">&It;b&gt;&lt;/b&gt;
</td>
<td width="5%" height="1" valign="bottom"> <Check >
<input type="button" value="Check™ onclick=hantei(1)> h -
<Jtd> antei()
<td width="10%" height="1" valign="bottom">
<img border="0" name=kekka src="neutral.gif" width="145" height="45">
</td>
</tr>
<tr>
<td width="100%" height="1" colspan="4">
<font size="4">( ) <b> </b> </font>
</td>
</tr>
<tr>
<td width="5%" height="1">
</td>
<td width="80%" height="1">
<input type="checkbox" name="C21" value="ON">HTML
<br>
<input type="checkbox" name="C22" value="0N"> 1
<br>
<input type="checkbox" name="C23" value="ON">Web bmp <br>

<input type="checkbox" name="C24" value="ON">Java JavaScript
<br>
<input type="checkbox" name="C25" value="ON">

</td>

<td width="5%" height="1">

<input type="button" value="Check™ onclick=hantei(2)>

</td>

<td width="10%" height="1">

<img border="0" name=kekka2 src="neutral.gif" width="145" height="45">
</td>



</tr>

<tr>
<td width="100%" height="1" colspan="4">
<p align="left">
<font size="5">2. </font>
</p>
</td>

</tr>

<tr>
<td width="100%" height="1" colspan="4">

<font size="4">( ) <input type="radio" name="rei" value="V0" checked> </font>

</td>

<td width="5%" height="1">
</td>
<td width="80%" height="1">
<input type="radio" name="R1" value="V1">JavaScript
&quot; &quot; <br>
<input type="radio" name="R1" value="V2">JavaScript
&quot;&amp;&amp;&quot; <br>
<input type="radio" name="R1" value="V3">JavaScript
<br>
<input type="radio" name="R1" value="V4">JavaScript
<br>
<input type="radio" name="R1" value="V5">JavaScript
&quot; <br>
<input type="radio" name="R1"™ value="V6'>JavaScript
</td>
<td width="5%" height="1">

<input type="button" value="Check™ onclick=hantei2()>

</td>
<td width="10%" height="1">

<img border="0" name=kekka3 src="neutral.gif" width="145" height="45">

</td>
</tr>

name

name[ value

( ) &quot; || &quot;
( ) &gquot;==8&quot;

( )  &quot;!=

<Check >
hantei2()

<tr>
<td width="100%" height="1" colspan="4">
<font size="5">3. </font>
</td>

</tr>

<tr>
<td width="100%" height="1" colspan="4">
<font size="4">( )
</td>

<td width="5%" height="1">
</td>
<td width="80%" height="1">

</font>

<a href="javascript:hantei3(2)">10 </a> <a href="javascript:hantei3(2)">20 </a>
<a href="javascript:hantei3(2)">30 </a> <a href="javascript:hantei3(1)">50 </a>

<a href="javascript:hantei3(2)">100 </a>
</td>
<td width="15%" height="1" colspan="2">

<img border="0" name=kekka4 src="neutral_gif" width="145" height="45">

</td>
</tr>
</table>
</form>

hantei3()

hantei3(1)
hantei3(2)

<p><a href="scriptl.htm"> </a></p>
</body>
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